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Q.P. Code given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

(i) o1 A= L Toh 39 THA-IF H 30 T 7 |
Please check that this question paper contains 30 questions.

(iv) ShuaT U3 T ST TTE@AT I & o Ugel, STUR-YIEdht | U9 T ThHTHh a9
fora |
Please write down the serial number of the question in the
answer-book before attempting it.

(v) 38 Y99 ol Ued o faw 15 fime &1 oy foon mon @ | weAuw o foawor qate @
10.15 S5 fopam SO | 10.15 ST & 10.30 &S ek BT hddl JI-9 ol Uell 3T 39
3afYy & GHH o IT-YEIehT W I3 I a1 foaE |
15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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39 Y97-97 4 30 357 & | @4 yo7 rfAard & |
I8 Jo7-97 qiel GUs] H fF9ifad 8 - @Ue &, &, T, T09 & /
GUE & 4 Jv7 G&7 1 & 12 7% Tglascdid (MCQ) TR & Uh-Uak 3% & J97 & |

GUE T 4 J97 G&7 13 @ 18 T% -3 (SA) ¥BR & qI-3t 3% & 97 & |
Y% F97 B IR 50 F5] & 374 781 597 2T |

TUS T H Y97 G&I7 19 T 23 % 9-3707 (LA) JHR & TR-TR 3B & o7 8 /
T Jo7 &7 3¢ 100 ec] & 37181 787 5147 =50 |

TGS § § J97 &I 24 T 26 TF AT, FIgT TUT HIFAA- TR F97 & |

EUE F H J97 &7 27 & 30 TF FH-37F (LA) YHR & Bg-Bg HHl & o7 & |
Jeh J97 &7 I 170 JiecT G 3718 787 5147 F16T |

Fo7-97 § HI3 GHY [T 781 & | TET FS Jol 7 AR [heq B JIaeT e
T E | 37 I § & T Uk 81 FIT HT I [o7ET 7 |

gG% SR, TP GUS U9 F9] & &rd, Tal a9 5. [Hev R 1w § |

«usg

o7 G&IT 1 & 12 7% Tglaaedia (MCQ) JFR & Uh-Uh 3% & Jo7 5 | 12x1=12
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ffeiiad § o S STIREITEh FLed < ol T @ad @ 2

(a) J&
(b) BRI = i
(c) 3Tdehdle

(@) I Teag! (ITImd)

frferiad & & ia-a1 e Hifq S & a) ° 98 8 2
(a)  Afd SR 1 7T 25 SHedl, 2015 1 §3T 1 |
(b) g TUST IR I HATHT o A7 3Tl 2 |
(c) 3 IU §Y 7Y TEIEIE B JHBIHT 30T 7 |

(d) I8 Hahl %iudlq 61 WOHT § hH HLdl % |
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B - Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C — Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying

1 mark each. 12x1=12

1. Which among the following is a threat to non-traditional security ?

59/4/3

(a) War

(b)  Manufacturing of weapons

(c) Terrorism

(d)  Internal disturbances

Which one of the following statements about NITI Aayog is correct ?
(a)  NITI Aayog was formed on 25th January, 2015.

(b) It comes under the Ministry of Commerce and Industry.

(c) Its full form is ‘New Institute for Transforming India’.

(d) It acts in the spirit of cooperative federalism.
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3. TS o Si9 & AHAl H | YR W gEAIeT % STEH-NGH ohi fshaAT i
fore &9 o ST ST B 2

(a) Tavamg gl & UM

(b) I =
() TEaEH
(d) i

4. 9d H g f Aifs v 4, Fefafas sad § @ @ FoEt =
3T
(i) g% TeHuE e (NAM) % H8-HedTs 9 |
(i) ST @ A TeFRUE STEeH (NAM) i w&ran 3 g weft |
(iii) 9RG 9 [efRUE Mg (NAM) 1 Hfifq &1 aered 6t Fifs a8 &=
TSSUAT H gL &l e A |
LEACETS ﬂﬁ? :
(a) (@), (i) 3R (iii)
b) @) 3R (i)
¢ (1) 3AR (iii)
d)  Gi) 3R (i)

5. = @ % fou g @ — f9H wh ol fiehud (A) 991 gE 1 HRU (R) g
JAferd foRam TRT 2 | 31 &l Bl &9H ¥ ufgu R fiw feu mu foemedi
(a), (b), (c) 3R () ® & I o &9 H Hal fIeheq FHT |

SYHIT (A) : 1971 H UM % |1 Ig % GNH YRd H 9gd 9g1 §& §
yromeff A |

HROU(R):  UIREIM WA ewel &I &fd uga % forg o
WS I AT oS o |

(a) AR (A) 3T KR (R) ST T&1 3 3 RO (R), AR (A) <hl
g ST HLdT 2§ |

(b)  ANTHA (A) TR RO (R) ST HEl §, T R (R), AMHAA (A) H
& SR Fgt il g |

(c) AR (A) HEl B, T SR (R) TAd 7 |
(d)  AfTHH (A) TAd 7, T SRV (R) TET 3 |
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A process of exchanging information on defence matters between nations
on a regular basis is known as

(a)  Confidence-Building Measures
(b)  Arms Control
(c) Alliance

(d) Disarmament

From the following statements about India’s Non-Alignment Policy,
choose the correct ones :

(1) Nehru was the co-founder of Non-Aligned Movement (NAM).
(ii) Bandung Conference led to the establishment of NAM.
(iii) India advocated the policy of NAM because it wanted to keep away

from the military alliances.

Choose the correct option :

(a) (1), (i1) and (iii)

(b) () and (ii)

(¢) (i) and (iii)

(d) (i) and (iii)

Two statements are given below — one labelled as Assertion (A) and the other

labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : There was a large-scale migration of refugees into India
during the 1971 war with Pakistan.

Reason (R): Pakistan had planned the migration to disturb the Indian
economy.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
Page 5 of 23 P.T.O.
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6. = 1w fou MU § — 98 w ol 3fiREA (A) 991 gE HI FHRU (R) G
am%mw%|sqsﬁaﬁﬁwﬂﬁq%qaﬁt:ﬁ%&qmﬁarﬁ
(a), (b), (c) 3R () ® & I & &9 | Hal fdeheq FHT |

S7FHT (A) : MEET & UTaH o 1Y TEUl h TH 9 T Hifod 9
I Alhdih €9 ¢ N I8 GIR HH & B 31T Hadi &
g ot gara & fSent forefl bt i STeTe T8 o |

Fr(R): e R R % @, S SR e e 8, weta %

T B kT GHT HH o I |
(a)  AMTHRIT (A) 3T HRUT (R) ST Tl 3 3T RO (R), AMTRAT (A) <hl
g AT KT 7 |
(b)  AMTHA (A) TR RO (R) ST Hal §, T R (R), AMHAT (A) H
8! SURST gt il g |

(c)  ANTHAH (A) HEl B, T SR (R) TAd & |
(d) AR (A) TAd 7, T RV (R) HaEl 3 |

7. YA H Y] SRk &1 I Fefafed § & foeae foham o 2
(a) THLS. g HAW

b)  H. e
(¢) B . WreqT
@ fomm TmOTs

8. Trfciga # @ w198 s ‘aaar & o foru U fom®’ ¥ gafid qoHifas
fofai & an 4wt € 2
() 9T gt ggHd ¥ 6 9na o fomeE w1 g eride Eafg iR
T eh-3TTTeh = 41 g1 =8y |
(i) 38 919 R o ggafq s+ o5 a8 gmen samote, Samdfaat i e

T T2 BIST ST Hehal |

(iii) had THR HI ARIHa faehE GHTTd i 0 Ag@qul qHe

=T |

(iv) &t ToHITaeh gall & HeTg-HRIea 3R Sl sl Wehid gTae il e
g7 |

& foeheq T :

(a) (), (i) 3R (iii) (b) (), (i) 3R (iv)

© (i), (iid) 3R (iv) d @), Gii) 3R (iv)
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6. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (¢) and (d) given below.

Assertion (A) : Gorbachev’s decision to normalize relations with the West
and democratise and reform the Soviet Union had some
other effects that no one anticipated.

Reason (R): The people in the East European countries which were
part of the Soviet bloc, had started to support Gorbachev
in his every decision.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

7. Who among the following initiated the nuclear programme in India ?
(a) A.P.J. Abdul Kalam
(b)  C. Srinivasan
(c) Homai J. Bhabha
(d)  Vikram Sarabhai

8. Which of these statements about the political decisions taken after
independence related to development are correct ?

(1) Almost everyone agreed that the development of India should
mean both economic growth and social-economic justice.

(ii) It was also agreed that this matter cannot be left to businessmen,
industrialists and farmers.

(iii)  Only the government should play a key role to ensure growth with
justice.

(iv) It was necessary to consult all political parties and get public
approval.

Choose the correct option :
(a) (1), (i1) and (iii) (b) (1), (i1) and (iv)
(¢) (i), (iil) and (iv) (d) (), (iii) and (iv)
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fTTRad Sl SICTEHATIHR A hITT

()  Hom 9§ fqusH

(i)  3fCU e gRI STHTdeRTA I AT BT
(iii)  dT=ET 39 A

(iv) T SEIgL el st s ug W Hgih
LEACES ﬂﬁ? :

(a) (@), (@v), (i), (iii)

(b) (1), (iv), (1), (iii)

(c) (1), (i1), (iii), (iv)

(d)  @av), @), (i), (ii)

fafcfiga & 9 -8 eF ‘s for & s 5 98 787 8 2
(i)  3Eeh! YEIA 2008 ¥ T3 |

(i) I8 HOY ATAhaTG IR TG h foeg o |

(iii) I8 ITTgrelT YSCER 3R ST o foeg o |

(iv) I8 o &9 G Alhad hl HIT o fow o |
Hﬁﬁ%‘?ﬂﬁlﬁ:

(a)  =had (i) 3 (iv)

(b) e (i) 3R (iv)

(c) e (i) 3 (i)

(d) e (i) AR (i)

frE T TATa % 9GS I F gt IR hg H YT YYcd @ T ?
(a) MU M IAE

(b) T 3 A

(c) Ui=El 9 g

(d) S AW I

qTfehEdT hT U Tk SITEeh hid o ?

(a) IR @
(b) I @H
¢) Toramst e
d) A I®
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9. Arrange the following in chronological order :
(1) Split in Congress Party
(i1))  Imposition of Emergency by Indira Gandhi
(iii)  Fifth General Elections
(iv)  Appointment of Lal Bahadur Shastri as Prime Minister
Choose the correct option :
(a) (@), Gv), (id), (iii)
(b) (1), (iv), (1), (ii1)
(c) (1), (11), (iii), (iv)
(d)  (@v), (1), (iii), (i1)
10. Which of the following statements about the ‘Arab Spring’ are not
correct ?
(1) It began in 2008.
(i1))  The struggle was against terrorism and pollution.
(iii) It raised its voice against corruption and unemployment.
(iv) It was basically a demand for democracy.
Select the correct option :
(a)  (i1) and (iv) only
(b)  (ii1) and (iv) only
(c) (i) and (ii) only
(d) (i) and (iii) only

11. After which general election did the Congress Party lose its dominance
for the first time at the Centre ?
(a)  Third general election
(b)  Fourth general election
(c) Fifth general election
(d)  Sixth general election

12. Who was the first military ruler of Pakistan ?
(a) Yahya Khan
(b)  Ayub Khan
(c) Ziaur Rahman
(d)  General Musharraf

59/4/3 Page 9 of 23 P.T.O.
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Qs @
Y =t Tefeuerar shi ifa = faveror i | 2
1977 = W gATEl H gferoft U= § i 6 Sfa o fohedl a1 HRON 1 ST
i | 9x1=2
TH TSEd hi fohrgl o Waifai o 919 foafaw | 4xé=2
Hifa 3T & fohegl G T 1 YeATh hITT | 2x1=2
TSs-4" hl TN o TIU faf9e TR & f&al o gaEiNG 3 Tsha AT &1
AT & ? TS I | 2
% o fohral QI AT Dl IATR HINT ST 36 GIH TSCHY D1 Teh Aol
fowd &0 & | 2x1=2
Qus 1

‘Frer wiftr’ sh1 I MY 2 2 U9 foeedl IR 2w o am fafew 5= 97 wfw
e 2 | 2+9=4

3T 2019 H, YR Giga™ & Ig=8¢ 370 @i fied o foon | 34 sgema
% fohrgl =R Il @l ISR HIVT | 4x1=4

“GTet % Nl H §Y WRA o TWIERITA! STelfiehr foshrd 3 Q1 ol ST I Teh
3RSk UTMeR o1 feam 2 1”7 9 & 9 | sl IR 328 i | 4x1=4

“IedteRtr 3 TS <l TR <1 TATTARYT Afydeh IUHIRRTIST il o fear g 1”7
o o 94 § T doh oIty | 2x2=4

SAYTARTA ol YR ToHIfd 6l o8 fJaTerae geaieti 8 9 Ush =11 993 Sdl
2 2 forgl =R wron <1 favawor hifse | 4x1=4
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SECTION B

Analyse India’s policy of Non-alignment. 2

Explain any two reasons for the victory of Congress in the Southern

States in the general election of 1977. 2x1=2
Name any four agencies of the United Nations. 4x é =2
Evaluate any two functions of NITI Aayog. 2x1=2

Why is it necessary for coalition governments to accommodate and

aggregate variety of interests ? Explain. 2

Highlight any two functions of UNICEF which make it a significant part
of the United Nations. 2x1=2

SECTION C

What is meant by ‘Veto Power’ ? Name any four countries that enjoy veto

power. 2+2=4

In August 2019, Article 370 was abrogated from the Indian Constitution.
Highlight any four effects of this change. 4x1=4

“India’s impressive technological growth in recent years has made the
country an attractive partner of US.” Support the statement giving any

four examples. 4x1=4

“Globalisation has shifted power from nation-states to global consumers.”

Support the statement with two arguments. 2x2=4

Why is Emergency considered to be one of the most controversial episodes
in Indian politics ? Analyse any four reasons. 4x1=4

Page 11 of 23 P.T.O.
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a
Qs g
f= fou MU o w1 eHgEs srewm fifse o FfaRed wwi % 3w
4dx1=4

fean mn fomt FrefcifRea o @ fope <1 § wFaIf-ed & 2
(a) TIMR (b) A9
(c) AT (d) et
feu o o 9 ewrten T Aefafga # 9 foew T w e B 2
(a) SMIf=ifeheH (b)  SheTehdl JHATE
(c) =Wl FHarEdd (d) R IHarEd
fo & wrafeard s fopm ad o =fed g off 2
(a) 1950 (b) 1975
(¢) 1982 (d) 1987
Y TATGh o 0T shi9-|7 Bk e STErRT o 2
(a) A II® (b) . A TI.UH. TG
(¢) TRt e d) TTsdass
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SECTION D
Study the given picture and answer the questions that follow : 4x1=4

1)

(i1)

(iii)

(iv)

The given picture belongs to which one of the following countries ?
(a) Myanmar (b) Nepal
(c) Bangladesh (d) SriLanka

The memorial shown in the picture is located at which one of the

following places ?
(a)  Shantiniketan (b) Calcutta University

(c) Burma University (d) Dhaka University

When did the incident related to the picture happen ?
(a) 1950 (b) 1975
(c) 1982 (d) 1987

Which military ruler was the cause for this memorial ?

(a) General Musharraf (b) Lt.General HM. Ershad
(c) Ziaur Rahman (d) Zia-ul-Haq
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(24.1)

(24.2)

(24.3)

(24.4)

4x1=4

I o fashm H HEEa &1 99y JS1 9id hiH-a1 ¢ 8 ?

(a) |IH g SHEH

b)) =4
(c) I d
d =N

Sf&TT T o1 9% o¥ S 9’ W% ° SHA 8 o gen B, 7

(a) HIAGH
(b) SR
(c) T

(d) drfREa™

udf urfepeae ®, ufeart qifhed o T % Raems e e

feh®reh wiqcal | foham =T o 2
(a) @ ST WHH

(b) G Hole ARG

(c) W AT WH

(d) W A TE.TH. TG

Td el 1 Mg fohe <o @ Trafeea 3 2
(a) HIH

(b) AU

(c) ¥Id

(d)  HrfeREa™
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24. 4x1=4

(24.1)

(24.2)

(24.3)

(24.4)

Which country is Bhutan’s biggest source of developmental aid ?

(a) USA
(b) Russia
(c) India
(d) China

A landlocked country of South Asia is :
(a) Maldives

(b) Bangladesh

(c) Nepal

(d) Pakistan

In East Pakistan, the popular struggle against the domination of

West Pakistan was led by which one of the following leaders ?
(a) Sheikh Mujibur Rahman

(b) Sheikh Mujib Mohammed

(c) General Yahya khan

(d) Lt. General H.M. Ershad

The Seven Party Alliance is related to which country ?

(a) Bhutan
(b) Nepal
(¢) India

(d) Pakistan
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IS L

Rgd U & HYE® ALHH Hife IR T T = & IW

4x1=4
TR T SATGIe o a1 fg-use fagra o favam 78 s 9, e oft

faurem anfifer omam W g3 on | Hitem o 1 e sfuiaRRe wRd H
HEAH! o &l <l &1 o oIQ forem T o | 918 goa@™I & faw 31a asg i
AT & H ol AT o |

1)

(i1)

(iii)

faurs % sy Feffigd 4 9 T T 1 9iftiss 9gadl o IR W
foariora feram =i o 2

(a) I IS

(b) TSUd

(c) T

(d) T AR HTHR

Feafafaa § 9 forg waTe o IEe 7 999 UEd YR 9 37 AT B
<61 =yor bl oft 2

(a) BEUaTg
(b) TR

() S[dIe
(d) VR

gfeam i =1 T o= foharm T o 2

(a) ‘fg-trse fog weatfaa o & fog

(b) Ueh AT TS UTfehEd™ M o foTw
(¢) UIhEA hT HfTYUM™ AR A o foIy
(d) Ul 9Ra 4 gaadHEl & f&di i @1 i & e
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Read the passage given below and answer the questions that follow :  4x1=4

The leaders of the Indian national struggle did not believe in the
two-nation theory. And yet, the partition on religious basis had taken
place. The Muslim League was formed to protect the interests of the
Muslims in colonial India. It was in the forefront of the demand for a

separate Muslim nation.

(1) At the time of partition, which one of the following States was

divided on the basis of religious majority ?
(a)  Uttar Pradesh

(b)  Gujarat

(c) Bengal

(d) Jammu and Kashmir

(i1))  Which one of the following Princely States was the first to
announce to remain independent and not to join the Union of

India ?

(a) Hyderabad
(b)  Manipur
(c) Junagarh

(d) Travancore

(iii)) Why was the Muslim League formed ?
(a) To propose ‘two-nation theory’
(b)  To form a new nation named Pakistan
(c) To prepare the constitution of Pakistan

(d)  To protect the interests of the Muslims in colonial India
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(iv) Taumem & IR 4 9 s Ty THR 1 =1 G o7 ?
(a) g fordll off gea # favrem 78 =medt o |
(b) g MM, HEWTE TR g8 61 T =gt off |

(c) 98 WA ! Th fawg TUsg M1 =& off |
(d) 98 SIFRIAT o G1Y HTfHeh YR T FagR argal off |

qRa & fgu W eifoe WiEEE (Y8 19 W) H AR TSAl h

@), ®, © da O & g 3ifera form T 8 | A= G T AHEI ok SER

W AT Sl ggaH RT3 9t ITR-gfeaent | 39 |El 9™, TN 6 18
S ht shH T 99T gHfes § fean man gefuq sew, f=fafed aew &+
SR forfe 4x1=4
(i)  WRd % g9 Usgafd . i 8 qeaf-aa =T |

(ii)  HIE % AdT &. HHEUS 9 grfed T |

(i) 98 TSF & | ST 7|, T [ JHSA B SH FI |

(iv) 1965 — 1967 H g=@ X Qe Hehe 1 FHAT HTH Il TSY |

e | o i | T
)
(i)
(i)
(iv)
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(iv) What was the stand of the Interim Indian Government on

partition ?

(a) It was against partition.

(b) It wanted peace, harmony and equality of religion.

(c) It wanted India to become a Hindu nation.

(d) It was in favour of treating people on religious basis.

In the given political outline map of India (on page 21), four States
have been marked as @), B), (© and (D). Identify these States on the

basis of information given below and write their correct names in your

answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :

4dx1=4

(1) The State related to V.V. Giri, the former President of India.

(ii)  The State related to the Congress leader, K. Kamaraj.

(iii) The State from where the phrase, “Aya Ram, Gaya Ram”

originated.

(iv) The State which faced the most acute food crisis in 1965 — 1967.

Sr. no. of the
information used

Concerned alphabet
in the map

Name of the
State

@)

(ii)

(iii)

(iv)
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Fig:  [HEliiaa Jv7 Fac glEETAT Gl & 077 Jv7 & 26 % €U W
4dx1=4
YT o 99 Usgurd d1. e, il 9 avafea o= o1 9w fafau |
ShIIE % Al . HATS fohd T & TEAfaa o 2
30 T w1 AW Tt st @ ufig Jae, “stn g, T Tm” @6 S|
73T |
1965 — 67 W Tr8 TT ol To™ THR @ Hehe 1 AHAT HET TS
g1 ?
TUE §
GUehRTCi fova ® AT shi et 1 JeTehd hifuT | 6
Tt
“Sft srefeaTen § guUR o STavg oW § |uft 1 i guwi 1 oy
&1 THET 1”7 39 %A % 98 H Hig dF deh [GIRAT | 3x2=6
LT I 3R T IV & A WRAR TSHIfd § g fehegl 9 T
el Sl ISR I | 3x2=6
Tt
2004 % Ak AW AN < S1G WRA oh S(URE TSHITAHh ol o o
fopral o fergatl ot 3wl HgHfd &l ISR KT | 3x2=6
aqd |l 99 H difoad Jomel! i fhdl aIr foRivarsti sl I9TR
HIT | 4xlé=6
Tt
“qd-difoa TS § g 8 JSflae § gREe oEE T8l ooar |7
fopeal o9 okl <hl HERIAT ¥ HIF T THdT iU | 3x2=6
Sfeaer TorHifd o foIw el fpgl o oieRer areredt fe=ameti i
IR T | 3x2=6
Tt
forgl M STaUS Taiafid SfgleHl Td 3 Hew™ ol ISR
<hITNTT | 3x2=6
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. 4x1=4
(26.1) Name the State related to the former President of India, V.V.
Giri.
(26.2) Name the State to which the Congress leader K. Kamaraj
belonged.

(26.3) Name the State from where the famous phrase, “Aya Ram, Gaya
Ram” originated.

(26.4) Which State faced the most acute food crisis in 1965 — 67 ?
SECTION E

(a) Evaluate the role of ASEAN in the contemporary world. 6
OR

(b) “In spite of the improvement in the Chinese economy, not everyone
in China has received the benefits of economic reforms.” Support
the statement with three arguments. 3Ix2=6

(a) Highlight any three major developments that took place in Indian
politics during NDA IIT and NDA IV. 3x2=6

OR
(b)  Highlight any three points of consensus that emerged among most
political parties in India after the Lok Sabha Elections, 2004. 3x2=6
(a) Highlight any four features of the Soviet system in the erstwhile

USSR. dx1 é 6

OR

(b) “The transition from Communism to Capitalism in Pre-Soviet
Republics was not a smooth one.” Support the statement with the
help of any three arguments. 3x2=6

(a) Highlight any three environmental concerns significant to global
politics. 3x2=6
OR

(b) Highlight any three international environmental movements and

their importance. 3x2=6
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